2025/07/25 10:43 12 100000

gooboogoboooon:

L.ugoond

)nODODOOOOoODoOoOoooDoro,0000,0000000 $P_n~r=\dfrac{n!}{(n-r)!'}=n(n-1)\dots(n-
r+1)$

3)n000000000000r0,000O00$N™r$4) N0 OO0,

O$n_1$04a,$n 2%0 b,$n 330 c$\dots$,0 0N 00 ODOOCOO, 0000

$\dfrac{n!}{n_1!n_2!n 3Ndots}\quad(n_1+n 2+n 3+\dots =n)$ 5)n0 000 000CO0O00OOCOCrO,Or
O000O0@OOooO)d $C n7r=\dfrac{n(n-1)\dots(n-r+1}{1\cdot 2\dots r}=\dfrac{n!}{(n-r)!r'}$
6) $C n*n=1,C n"0=1$7)n0 0000000000 0OrO,0000
$C_{n+r-1}"~r=\dfrac{n(n+1)\dots (n+r-1)}{r!'}$

200000t

1)a,b0O0ODO,NnO0O000,00 $(@a+b)™n=\sum _{r=0}"nC n"~ra”~{n-

r¥tb”~r=C n~0a”~n+C _n~1la”~{n-1}b+\dots C_ n"“nb”~n$ 2) $a=1,b=x$0, 0 $(1+x)"n=\sum_{r=0}"n
C n?rx~r=C_n"0+C_n"1 x+\dots +C n"n x™n$ 3) $\alpha$d 0 0 O O ,$|x|<1$0
$(1+x)"n=\sum_{r=0}"n C_{\alpha}~r x~r=C_{\alpha}”~0+C_{\alpha} " 1x+\dots
+C_{\alpha}~rx~r+\dots$ $=1+\alpha x+\dfrac{\alpha(\alpha-1)}{2}x"~2+\dots
+\dfrac{\alpha(\alpha-1)\dots(\alpha-r+1)}{r!}x~r+\dots$ 4) $t 1,t 2\dots,t k$O O O 0O O ,nOkO O
00 $(t 1+t 2+\dots+t_k)~n=\sum \dfrac{n!}{r 1!r 2\dots r k!}t 1~rt 2"r\dots t n*r$ O O $\sum
O00000r 14r_2+\dots +r_k=n$0 O O $(r_1,\dots, r k)$0O0 O O

BN

O000,00%0megas, 000 :$\emptyset$ D OAD OO OSA™CS OO O$A I\cup A 2%, 00
0 $A 1\cap A 2%, 00 00O $A_1\cap A_2=\emptyset$

Jouood

1) $0\leq P(A)\leq 1% 2) $P(\Omega)=1,P(\emptyset)=0$ 3) $P(A"c)=1-P(A)$ 4) $P(A 1\cup

A 2)=P(A 1) + P(A_2)-P(A 1\cap A 2)$ 5) O O $A 1,A 2$0 0,0 0 $P(A_I\cup A 2)=P(A 1)+P(A 2)$ 6)
O000OnOO0O$A 1,A 2)\dots, A n$00 000,00 $P(A_1\cup A 2\cup \dots \cup

A n)=P(A_1)+P(A 2)+\dots +P(A k)$ (0D O D)

#00000000 1)0$P(A_1)>0$0 ,$P(A_2|A_1)=\dfrac{P(A_1\cap A_2)}{P(A_1)}$ O OO $A_1%$0
O0D000,$A2$00000.2)00%$A 10A 24000 0,0 $P(A 1)>0$0 ,$P(A 2|A 1)=P(A 2)$ 3)

O $P(A_1)>0$0 ,$P(A 1\cap A 2)=P(A_1)P(A 2|A 1)=P(A 2)P(A_1]A 2)$4) OO $A 10A 20000,
00 $P(A_1\cap A 2)=P(A_1)P(A 2)$ 5) O $P(A 1\cap \dots \cap A_{n-1})>0$0,0 $P(A_1\cap A_2\cap
\dots \cap A_n)=P(A_1)P(A_2|A_1)P(A_3|A_1\cap A_2)\dots P(A_n|A_1\cap A_2\cap \dots \cap A_{n-1})$
0000 6)00%$A 1\dots, An$O OO 000O,00$P(A 1\cap A 2\cap \dots \cap A_n)=P(A_1)\dots

000 - https://trident365.com/



Last areas:

;82;;8:1/18 SDD https://trident365.com/doku.php?id=areas:%E5%A4%A7 %E5%AD%A6%E9%99%A2: %E6%A6%82%E7%8E%87 %E8%AE%BA&rev=1737197717

19:55 00

P(A n)$

From:
https://trident365.com/- 0 0 O

Permanent link: 4
https://trident365.com/doku.php?id=areas:%E5%A4%A7%E5%AD%A6%E9%99%A2:%E6%A6%82%E7%8E%87 %E8%AE%BA&rev=1737197717

Last update: 2025/01/18 19:55

https://trident365.com/ Printed on 2025/07/25 10:43


https://trident365.com/
https://trident365.com/doku.php?id=areas:%E5%A4%A7%E5%AD%A6%E9%99%A2:%E6%A6%82%E7%8E%87%E8%AE%BA&rev=1737197717

	1.排列与组合
	2.二项式定理
	事件
	概率基本定理

